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Use the distributive property to evaluate expressions
Use the distributive property to simplify expressions
SGT property to simplify exp 8(10,)

, 3+ S
Tﬁ(:erqerms 330 > % (2 oo+ \)
S @]
& ¥eyConcept Distributive Property |
Symbol For any numbers &, b, and c,

ab+ o =ab+ acand b+ dla= ba+ caand
ab—a=ab—acand (b— cla=ba—ca

Examples 2 +5=3+2+4+3:5 49-T=4.9-4.7
ITy=6+15 42) = 36 — 28
21=21 =8



Example 3

Rewrite each expression using the Distributive Property. Then simplify.
a. 7(3w — 5)

7 (3w-5) !1(a+b+q.)
13W-75 laa +1ab+4 §
A -35



Distributive property practice S (30 o-l-“)
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+
Use the Distributive Property to rewrite eachdexpression. Then evalu& S0 S

( 1.2081) (Y0 2.12-43 =+ QY 3.5(311)j1c;g3

=

4.5(4x ¥ 9) 5.3(8 ¥ 2x) 6. 12 (6 +'-21-x)

DOX4US  2Y4e-bx  Taedy




7.12(2 + i« 8. 112 41 9.3(2x ¥y)
i ;uf(+62x) ' 3+ )
3471t SREIG,

10. 2(3x + 2y — 2) 11. (x — 2)y 12. 2(3a — 2b + ¢)

AX 4-484‘:22& \j (X"«l) 60\‘QB+QQ.

(3"""“&



13.3(16x — 12y + 42) 14. (2 — 3x + x%)3 15. —2(2x* + 3x + 1)

‘/y-33+9< 3(a-3xayt)  THKmexas

32-33IX IR
b -9x +3X*






